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1)

Calculate the result.

a)b-4—5-4=(5-5)-4=0-4=0
b)8-9+2-9=(84+2)-9=10-9=90
)4-4—-3-4=(4-3)-4=1-4=4
d)9-2—-7-2=(9-T7)-2=2-2=4
e)6-7T+3-7=(6+3)-7T=9-7=063
f)4-8+6-8=(4+6)-8=10-8=280
g)4-6+5-6=(4+5)-6=9-6=>54
h)7-3—-4-3=(7T—4)-3=3-3=9

2)

Calculate the result.

a)3-6+6-6=(346)-6=9-6=>54
B)6-7+9-7=(6+9)-7=15-7=105
¢)7-3+412:3=(7+12)-3=19-3 =57
d)8-4+4.-4=(8+44)-4=12-4=48

) 6-3+14-3=(6414)-3=20-3 =60
£)5-8410-8=(5+10)-8 = 15-8 = 120
g)16-3—-12-3=(16—12)-3=4-3 =12
h)5-5+10-5=(5+10)-5=15-5="75
)3-T+17-7=(3+17)-7=20-7 = 140
)15-2—-8-2=(15—-8)-2=7-2=14

3)
Calculate the result.

a)4-3+7-3=(44+7)-3=11-3=33
b)5-8+6-8=(5+6)-8=11-8=283
)4-6+4-6=(4+4)-6=8-6=48
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d)5-7+10-7=(5+10)-7=15-7 =105
e)3-54+8-5=(34+8)-5=11-5=55
£)9-943-9=(9+3)-9=12-9 =108
9)4-9+43-9=(4+3)-9=7-9=063
h)10-4+3-4=(10+3)-4=13-4=>52
i)5-4+8-4=(5+8)-4=13-4=52
)8-5+4-5=(8+4)-5=12-5 =60

4)

Calculate the result.

a)8-4—2-4=(8-2)-4=6-4=24
b)3:243-2=(3+4+3)-2=6-2=12
c)9-8—8-8=(9-8)-8=1-8=
d)8-6—-8-6=(8—-8)-6=0-6=
e)8:3—4-3=(8-4)-3=4-3=12
H7-7-2.-7=(7-2)-7=5-7=35
g)5-8+4-8=(5+4)-8=9-8="72
h)2-3+4-3=(2+4)-3=6-3=18
i)6-84+2-8=(6+2)-8=8-8=064
j)4-8—4-8=(4—-4)-8=0-8=0
Good Luck!
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